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1.4 f(X) =au(X)+ (X)W f'(x) =’ (X) + HV'(X) a,p
N
2. O =u(x)-v(x), M f'(x)=u"(x)Vv(X)+u(x)v'(x)
7 (Uvw)'= U'vw UV W+ Uvw
u(x) . u' ()Vv(x) —u(x)v'(x)
3. & f ; 0, f'(x)=
(x) = v V(x) # (x) VL
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(1) y=2x*-3x*+7x-8;
(2) y=2"+x% +yxyxVX ;
(3) y=¢€*(3sin x+4cosX) ;
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5 2. & y=tanx, Ky’

B3. #y=secx, Ky
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y'= (arcsin x)'=

Ay 1 1

=—=f'(X)=—
Ax '(y)
Ay

Ay=Ff(X+AX)—f(X) =0,

% 4. KR IEZEEEy = arcsin x [ 344

fif y=arcsinx & x=siny (-
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sin'y=cosy >0
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sin' y cosy 1/_X2

ZABlHh (arccos X)'= —
1-x°

%1 5. Kz e&%y = arctan x 11540,

1 1
tan'y sec’y 1+x°

fit (arctan x)'=

ZEALLH (arccot x)'= 1 !

+ x?

f] 6. KA EEFy=log,x (a>0,a=1) KIF%
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y="fU), u=e()=y,=1) ¢

y="1fUu), u=p(v), v= ¢(x):>dy dy du dv

dx du dv dx
B 7. R TIIRE RS
(1) y=sin2x;

(2) y=sin®x;

(3 y= (2X3 —7)4;
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(4) y=+9-x%,
%1 8. KN R E T HL
(1 f(x)=e"*, k(1)

(2) y=sin*xcos4x;

(3) y=x(cosin x+sin Inx) ;

(4) y:\/x+\/x+\/;;
9. FARRERFIE

y — Xx , y — Xsinx , y — [u(x)]v(x) — ev(><)|nu(><)

«/x+ (x* +2)°

tbany

(x+3)°

, Ky
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(1) y=e"—x*-1;
2. KT R E 2 HL

(1) y=2x’cosx ;

(3) y=x*tanxInx.
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(2) y=(2x* +X)Ccos2X ;
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(2) f(x)= S
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